INDEXKABLE TOOLS







Indexable milling tools
Lead Angle Type Of Tools Cutting Edge Length

Shape of blade

F illing tool | t
A 450 F ace miting foo Incirclgsd?z:meter C D R S T L
D 600 E Shoulder milling tool 5.556 — — _ 09 _
E 750 B Profile milling tool 6.350 06 | 07 | — | — 11| —
T T slot milling tool 9.525 09 11| 09 09 16 —
P o
90 12.700 12 15| 12 12 | 22 | —
K High feed milling cutter
z 30 15875 | 16 | 19 | 15 | 15 | 27 | —
(o] Chamfer milling tool
R | Round 19.050 | 19 | — |19 | 19 | 33 | —
H Helical end face milling tool
25.400 25 — | 25 25 | 44 | 25
X Special

Number Of Type

Shell Structure

©27,32,40

7

i
I
I
| 63

|
I V 50
- 70
| ‘
11,135 i
218,20 !
50,63,80 238,45,56 L
100,125,160 -
B50mm-@80mm B@100mm-Z160mm
101.6 177.8 ‘
@60 101.6
\ I N 960 {
177 7 A7
! | ! ! ! | | 70
I I A T | Té T 80|
1218] ‘ |otg | ‘ ‘
@26 |26 :
©200,250 2315 "
@200mm-Z250mm @=315mm

Side-locked Shank, Straight Shank., Morse Taper Shank




Indexable milling tools

Face Milling Tool

Tool Installation Position

Cutting Direction  R:Right L: Left

A22F

A |Atypeofadapter | W | Side-locked
short
B |Btypeofadapter| T  |Replaceable Head
Standard
C |Ctypeofadapter| MT Morse Tool Length Cutter Arbor
D |Dtypeofadapter| BT Taper lengthening
Z | Straightshank | J Spline
) Side And Face
T Groove Width H12 Milling Tool
- Helical And Face
The deepest machining 104 Milling Tool




bohlente /N

AFO1

Z
=)
m
X
=
-
r
=
()

Type Adapter Tooth Weight
AF01.12A22.050.04 40 62.4 50 22 40 6 A 4 0.3
AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5
AF01.12A27.080.06 60 92.4 80 27 50 6 A 6 1.3
AF01.12B32.100.07 70 112.4 100 32 50 6 B 7 1.8
AF01.12B40.125.08 80 137.4 125 40 63 6 B 8 3.0
AF01.12B40.160.10 100 172.4 160 40 63 6 B 10 5.0
AF01.12C60.200.12 160 212.4 200 60 63 6 C 12 6.8
AF01.12C60.250.14 200 262.4 250 60 63 6 Cc 14 11.2
AF01.12D60.315.18 270 327.4 315 60 70 6 D 18 20.8

Threaded Sleeve Insert Screw

o @ £

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

E001




@Dl
I
)
o)e]
@02

Dimension (mm)

Adapter Tooth Weight

i (kg)
AF02.12A22.050.03 40 62.4 50 22 40 6 A 3 0.3
AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55

Threaded Sleeve Insert Screw

o @ £

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

E002

ONITTIIN X3ANI




bohlente /N

Z

»)

ul

X :

Adapter Tooth Weight

g Type

= (kg)

-

E AF03.12A27.080.04 80 103 27 50 55 A 4 1.8

pa

(0] AF03.12B32.100.05 100 122 32 50 55 B 5] 24
AF03.12B40.125.06 125 147 40 63 55 B 6 4.4
AF03.12B40.160.08 160 181 40 63 515 B 8 6.4
AF03.12C60.200.10 200 221 60 63 55 C 10 8.5
AF03.12C60.250.12 250 270 60 63 55 (o] 12 14.1
AF03.12D60.315.15 315 353 60 63 55 D 15 22.2
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 2.3
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 75 B 8 61
AF03.15C60.200.10 200 221 60 63 7.5 (¢} 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 8115} 353 60 63 7.5 D 15 21.8

Insert Tool chuck Wrench

Double Headed Screw ol chuck screw

4

SE[IN1203 LSE12R/L

WO1R/L DM8x21X LOM5x%15.1
SE[IN1504 LSE15R/L S4

E003




bohlente

@ DI ‘
_ [¢]
3
T
y 6o _
2
@ D2 (w)
u
Dimension (mm) - TR R X
apter 00 eig
Type
-
AF04.05A22.050.04 40 56 50 22 40 3.5 A 4 0.3 E
P4
AF04.05A22.050.05 40 56 50 22 40 3.5 A 5 0.4 Q
AF04.05A22.063.05 50 69 63 22 40 3.5 A 5 0.6
AF04.05A27.080.06 60 86 80 27 50 &5 A 6 1.3
AF04.05B32.100.07 70 106 100 30 50 3.5 B 7 2.6
AF04.05B40.125.08 80 130 125 40 63 83 B 8 4.2
AF04.05B40.160.10 100 165 160 40 63 3.5 B 10 5.1
AF04.05C40.160.10 100 165 160 40 63 3.5 (¢} 10 4.8

Insert Insert Screw

OFKTO05T3 TL60 M4X10 T15T

E004




Z
=)
m
X
=
-
r
=
()

bohlente /N

Di i mm
imension ( ) Adapter Tooth Weight

Type (kg)
AF04.07A27.080.05 60 o1 80 27 63 5 A 5 14
AF04.07B32.100.06 70 111 100 32 63 5 B 6 1.8
AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9
AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9
AF04.07C60.200.12 204 211 200 60 50 5 c 12 7.6
AF04.07C60.250.16 254 261 250 60 50 5 B 16 13.3
AF04.07D60.315.20 319 321 315 60 50 5 D 20 183

Insert Tool chuck L Wrench
Double Headed Screw| Tool chuck screw Adjusting Screw )

(7))

OFKR0704 LOFO7R/L WO2R/L DMg*21 LOM5X15 TMO0608 S3 84

E005



AFO05

uf

G
gl

9

b

Adapter Tooth Weight

ONITTIIN X3ANI

AF05.06A22.050.04 40 60 50 22 40 10 A 4 0.3
AF05.06A22.063.05 50 73 63 22 40 10 A 5 0.5
AF05.06A27.080.06 60 90 80 27 50 10 A 6 0.8
AF05.06B32.100.07 70 110 100 100 50 10 B 7 15
AF05.06B40.125.08 80 135 125 125 63 10 B 8 2.5
AF05.06C40.160.09 100 170 160 160 63 10 C 9 4

Insert Insert Screw

©

ODL[I[]0605 TL60 M5X12 T20T

E006




Z
=)
m
X
=
-
r
=
()

bohlente /N

Dimension (mm) Adapter Tooth Weight
Category Type (kg)

AF06.06A22.050.05 40 62 50 22 45 4 A 5 0.3
AF06.06A22.063.06 50 75 63 22 45 4 A 6 0.5
AF06.06B27.080.07 60 92 80 27 50 4 B 7 1.2
AF06.06B32.100.08 70 112 100 32 63 4 B 8 1.2
ONO06 AF06.06B40.125.09 80 137 125 40 63 4 B 9 2.6
AF06.06C40.160.11 100 172 160 40 63 4 C 11 4.3
AF06.06C60.200.13 160 212 200 60 63 4 C 13 7.6
AF06.06C60.250.15 200 262 250 60 63 4 C 15 13.5
AF06.06D60.315.17 250 327 315 60 70 4 D 17 20.8
AF06.08A22.063.05 50 78 63 22 40 5 A 5 0.5
AF06.08B27.080.06 60 95 80 27 50 5 B 6 1.2
AF06.08B32.100.07 70 115 100 32 63 5 B 7 1.2
AF06.08B40.125.08 80 140 125 40 63 5 B 8 2.6
ONO8
AF06.08C40.160.10 100 175 160 40 63 5 C 10 4.3
AF06.08C60.200.12 160 215 200 60 63 5 C 12 7.6
AF06.08C60.250.14 200 265 250 60 63 5 (¢} 14 13.5
AF06.08D60.315.16 250 330 315 60 70 5 D 16 20.8

Insert Clamping Screw Wrench
%
3 3
ON[I[J06041[] L60 M4X10 T15T

ON[J[J]o8T5][] L60 M5X12 T20T

E007



bohlente

AF06 i

L
L1
pa— . \ J ol o o o
S s & 1S}
' ) a
Z
O
Y.
Type (mm) Dimension Adapter Tooth =
oo | o0 | o | L U =
-
AF06.06W20.025.02 37 25 20 100 45 4 w 2 E
AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3 Q
AF06.06W32.040.04 52 40 32 120 55 4 w 4 0.4
AF06.08W25.032.02 47 32 25 120 55 5 w 2 0.4
AF06.08W32.040.03 55 40 32 120 55 5 w 3 0.5
AF06.08W32.050.04 65 50 32 120 55 5 w 4 0.6

Insert Screw Wrench

ON[J[J06041] TL60 M4X10 T15

ON[I[JosT5[] TL60 M5X12 T20

E008




bohlente /N

45°

[o]s]}

@d

@ D2

Dimension (mm)

Z
=)
m
X
=
-
C
Z
@

Type Adapter | Tooth | Weight
AF07.12C60.200.18 209 215 200 60 40 5 C 18 6.5
AF07.12C60.250.24 259 265 250 60 40 5 © 24 9.2
AF07.12D60.315.30 324 330 315 60 40 5 D 30 12.4
AF07.12D60.355.34 364 370 355 60 40 5 D 34 16.2
AF07.12D60.400.38 409 415 400 60 40 5 D 38 19.2
AF07.12D60.450.44 459 465 450 60 40 5 D 44 23.2

Double Headed Screw Wrench

= \\\\\\\\\
¢

SN[IN1204 WSTO1 DM6*20 S3

E009




Type

AF08.12A22.050.04
AF08.12A22.063.06
AF08.12B27.080.07
AF08.12B32.100.08
AF08.12B40.125.10
AF08.12C40.160.12
AF08.12C60.200.14

AF08.12C60.250.16

SNEX1206ANN

D2
40
50
60
70
80

100
150

180

93

113

138

173

213

263

Dimension (mm)

80

100

125

160

200

250

27

32

40

40

60

60

Insert Screw

TL60 M4X10

50

50

63

63

63

63

Adapter

@

o O O

Wrench

Tooth

10

12

14

16

E010

Weight
(kg)

0.5
0.7
1.2
1.7
3.6
4.8
5.3

12

ONITTIIN X3ANI




bohlente /N

Z

w)

Y,

i i mm
Type Dimension (mm) Adapter| Tooth

=

-

E AF09.12A22.050.04 40 63 50 22 40 6 A 4 0.5

Z

o AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF09.12C40.160.14 100 173 160 40 63 6 (0] 14 4.8
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3
AF09.12C60.250.20 180 263 250 60 63 6 (0] 20 12

Insert Insert Screw Wrench

S

SNMX1205XTN TL60 M4X10 T15T

EO11




bohlente

P4

(w)

u

Dimension (mm) . X

Type Adapter Tooth Weight =

-

AF10.12A22.063.05 50 76 63 22 45 5.5 A 5 0.5 E

pa

AF10.12B27.080.06 60 93 80 27 50 55 B 6 1.0 @
AF10.12B32.100.08 70 113 100 32 50 5.5 B 8 14
AF10.12B40.125.10 80 138 125 40 63 55 B 10 25
AF10.12C40.160.12 100 173 160 40 63 5.5 (o} 12 3.8
AF10.12C60.200.14 150 213 200 60 63 55 C 14 6.5
AF10.12C60.250.16 180 263 250 60 63 5.5 (¢} 16 9.1

Insert Screw Wrench

o
"

PNMU1205ANER TL60 M5X12 T20T

E012




bohlente /N

@Dl
: i
v o
I
?d
— @ D2
Z
=)
m
X Dimension (mm)
Type Adapter Tooth
=
-
r AF11.16A22.050.04 50 64 50 22 50 75 A 4
Z
(0] AF11.16A22.063.05 50 7 63 22 50 7.5 A 5 0.5
AF11.16A27.080.06 60 94 80 27 50 7.5 A 6 1.0
AF11.16B32.100.07 70 114 100 32 50 75 B 7 1.4
AF11.16B40.125.08 80 139 125 40 63 7.5 B 8 25
AF11.16C40.160.10 100 174 160 40 63 75 C 10 3.8
AF11.16C60.200.14 150 214 200 60 63 7.5 C 14 6.5
AF11.16C60.250.16 180 264 250 60 63 75 Cc 16 9.1

Insert Insert Screw Wrench

SNMU1606 TL60 M5X12 T20T

E013




bohlente

55

@Dl

Dimension (mm)

ONITTIIN X3ANI

Type Adapter | Tooth Weight
DF01.09A27.080.08 60 88.5 80 27 50 8.5 A 8 1.1
DF01.09B32.100.10 70 108.5 100 32 50 8.5 B 10 2.6
DF01.09B40.125.14 80 133.5 125 40 63 8.5 B 14 3.7
DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 5.6
DF01.09C60.200.22 150 208.5 200 60 63 8.5 C 22 6.3
DF01.09C60.250.28 200 258.5 250 60 63 8.5 (¢} 28 10.3
DF01.09D60.315.32 270 323.5 315 60 63 8.5 D 32 21.7

Clamping Screw Wrench

N
(S

i

HNEX0905 DM6*20 W18N S3

E014




bohlente /N

DFO1

Dimension (mm)

Z
=)
m
X
=
-
r
=
()

Category Type Adapter Tooth Weight
DF01.11A22.050.04 40 60 50 22 45 5 A 4 0.6
DF01.11A22.063.05 50 73 63 22 50 5 A 5] 0.8
DF01.11B27.080.06 60 90 80 27 50 5 B 6 1.1

) DF01.11B32.100.07 70 110 100 32 50 5 B 7 1.8
%’_ DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
- DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DF01.11C60.200.12 150 210 200 60 63 5 C 12 7.9
DF01.11C60.250.14 180 260 250 60 63 5 C 14 13.4
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DFO01.11A22.063.06 50 73 63 22 50 5 A 6 0.9
DF01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
§ DF01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
-% DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DF01.11B40.160.14 100 170 160 40 63 5 B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 o] 16 8.5
DF01.11C60.250.18 180 260 250 60 63 5 C 18 18

Insert Insert Screw Wrench

o

PNEG110512R TL60 M4X10 T15T

E015




Category

a|dniniy

Type

DF01.11A27.080.10
DF01.11B32.100.14
DF01.11B40.125.18

DFO01.11B40.160.22

PNEG110512R

bohlente

Dimension (mm)

60 90.1 80 27
70 110.1 100 32
80 135.1 125 40
100 170.1 160 40

Clamping Screw

@

DM6*20

63

63

W18N

Adapter

Tooth

Wrench

S3

E016

Weight
(kg)

1.3

1.6

3.2

5.8

ONITTIIN X3ANI




Z
=)
m
X
=
-
r
=
()

bohlente

T Adapter Tooth
DF02.25B40.125.05 80 154 125 40 63 17 B 5
DF02.25C40.160.06 100 189 160 40 63 17 C 6 6.9
DF02.25C60.200.08 150 229 200 60 63 17 C 8 10.5
DF02.25C60.250.10 160 278 250 60 63 17 C 10 16.7
DF02.25D60.315.12 270 346 315 60 63 17 D 12 27.3

Insert Insert Screw Shim Screw Wrench

L

LNKT2510 LLN25R-ZR TL60 M5X16 L60 M3.5X10 T15T/T20T

E017




bohlente

OS]
P D2

Dimension (M

Z

&)

ul

Type m) Adapter Tooth Weight ;

oo [ oo | oo | oo | n | o il =

-

DF03.15A22.050.04 40 57 50 22 40 6 A 4 E

DF03.15A22.063.05 50 70 63 22 40 6 A 5 0.7 (@)
DF03.15A27.080.06 60 87 80 27 50 6 A 6 1.1
DF03.15B32.100.07 70 107 100 32 50 6 B 7 1.8
DF03.15B40.125.08 80 132 125 40 63 6 B 8 3.4
DF03.15B40.160.10 100 167 160 40 63 6 B 10 5.2
DF03.15C60.200.12 150 207 200 60 63 6 (o} 12 7.8

Insert Insert Screw
A

Y

-

R365-1505ZNE TL60 M4X10 T15T

E018




bohlente /N

I
1l [
(o))
@ D2
P
w)
Y
i jon (mm

= Type Dimension ( ) Adapter Tooth Weight
z oo [ oo [ | s ]
-
E DF03.15A27.080.10 60 87 80 27 50 6 A 10 1.4
P
O DF03.15B32.100.14 70 107 100 32 50 6 B 14 2.0

DF03.15B40.125.18 80 132 125 40 63 6 B 18 3.8

DF03.15B40.160.22 100 167 160 40 63 6 B 22 5.7

DF03.15C60.200.28 150 207 200 60 63 6 C 28 10.2

DF03.15C60.250.36 180 257 250 60 63 6 (¢} 36 15.2

Insert Clamping Screw Wrench
L[

o
7 (&

= &

R365-1505ZNE DM6*20 W18N S3

E019




bohlente

2

O

Y.

e Dimension (mm) Adapter | Tooth

=

r-
EF01.15B40.125.16 80 132 125 40 63 8 B 16 3.5 E
EF01.15B40.160.20 100 168 160 40 63 8 B 20 6.1 O
EF01.15C60.200.25 150 208 200 60 63 8 C 25 7.4
EF01.15C60.250.32 200 257 250 60 63 8 C 32 13.1
EF01.15D60.315.40 250 323 315 60 63 8 D 40 25.5

Insert Insert Screw Wrench

Q &

LNE32.534 TL60 M4X10 T15T

E020




bohlente /N

<

O

x

= Type Bimensteni(nm} Adapter Tooth Weight

-

E EF02.15B40.125.06 80 137 125 40 63 8 B 6 3.8

<

@ EF02.15B40.160.08 100 170 160 40 63 8 B 8 6.6
EF02.15C60.200.10 150 208 200 60 63 8 C 10 9.6
EF02.15C60.250.12 200 257 250 60 63 8 C 12 13.4
EF02.15D60.315.16 250 328 315 60 63 8 D 16 25.2

Insert Insert Screw Shim Screw Wrench

ﬁ . )

LNKT1506 LLN15R-ZR TL60 M4X15 L60 M3X8 T10T/T15T

E021




Eﬁf&u,

P4

(w)

ul

X

Type g

-

EF03.12A27.080.04 80 84 27 50 6 4 A 1.1 E

EF03.12B27.100.06 100 104 27 50 6 6 B 1.9 ()
EF03.12B40.125.08 125 129 40 63 6 8 B 35
EF03.12B40.160.10 160 164 40 63 6 10 B 5.7
EF03.12C60.200.12 200 203 60 63 6 12 C 8.2
EF03.12C60.250.16 250 253 60 63 6 16 C 13.8
EF03.12D60.315.20 315 318 60 70 6 20 D 235
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0
EF03.15B27.100.06 100 104 27 50 8 6 B 1.8
EF03.15B40.125.08 125 129 40 63 8 8 B 3.3
EF03.15B40.160.10 160 164 40 63 8 10 B 5.4
EF03.15C60.200.12 200 204 60 63 8 12 C 7.9
EF03.15C60.250.16 250 253 60 63 8 16 C 13.6
EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

Insert Tool chuck Clamping Screw  Tool chuck screw Wrench
SPKN1203 LSP12R/L WO04R/L WM8x17
S3
SPKN1203 LSP12R/L WO04R/L WM8x22 LOM5x%15.1 S
4

SPKN1504 LSP15R/L WO04R/L WM8x22

E022




bohlente /N

Dimension (mm)

Z
=)
m
X
=
-
r
=
()

Type Adapter| Tooth Weight
EF04.12A22.050.04 40 54 50 22 40 6 A 4 0.3
EF04.12A22.063.05 50 66 63 22 50 6 A 5 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 6 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B 7 1.4
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

Insert Insert Screw Wrench

o

SPK[11204 TL60 M5X12 T20T

E023




Category

piepuels

s|diyinin

Type

EF06.18A27.080.04
EF06.18B32.100.05
EF06.18B40.125.06
EF06.18B40.160.08
EF06.18C60.200.10
EF06.18C60.250.12
EF06.18A27.080.06
EF06.18B32.100.07
EF06.18B40.125.08
EF06.18B40.160.10
EF06.18C60.200.12

EF06.18C60.250.14

Insert

SPMT1806EDER

D2

60

70

80

100

150

180

60

70

80

100

150

180

107

132

167

207

257

87

107

132

167

207

257

Dimension (mm)

100

125

160

200

250

80

100

125

160

200

250

Clamping Screw

TL60 M6X16

40

60

60

27

32

40

40

60

60

63

63

63

63

50

50

63

63

63

63

ap

124

124

124

124

124

124

124

12.4

124

12.4

12.4

12.4

Adapter

> O O W w

w

Wrench

Tooth

E024

Weight
(kg)

1.3
2.0
3.6
5.0

7.7

1.8
35
4.9
7.6

17.0

ONITTIIN X3ANI




bohlente /N

15°

@Dl

@d
@02

=z

=)

m

x Type Dimension (mm) Adapter Tooth Weight

= (kg)

-

E EF07.12A22.050.05 40 56 50 22 40 8 A 5 0.3

Z

(0] EF07.12A22.063.06 50 70 63 22 40 8 A 6 0.5
EF07.12A27.080.07 60 87 80 27 50 8 A 7 1.2
EF07.12B32.100.08 70 107 100 32 50 8 B 8 1.7
EF07.12B40.125.10 80 132 125 40 63 8 B 10 2.8
EF07.12C40.160.12 100 166 160 40 63 8 C 12 4.4
EF07.12C60.200.16 150 207 200 60 63 8 C 16 6.1
EF07.12C60.250.20 180 257 250 60 63 8 C 20 10.8

Insert Screw

~

SNMX1205XTN TL60 M4X10 T15T

E025




PFO1

Type

PF01.22A22.063.03
PF01.22A27.080.04
PF01.22B32.100.05
PF01.22B40.125.06

PF01.22B40.160.07

Insert

<

TPKN2204

60

70

80

100

80

100

125

160

@D

Dimension (mm)

oo | 0 | ]
50 63 22

27

32

40

40

@ D2

50

15
50 15
50 15
63 15
63 15

Insert Screw

MYL8X18

Adapter

Wrench

S4

op

Tooth

E026

Weight
(kg)
0.5
0.9
1.8
25

3.6

ONITTIIN X3ANI




bohlente /N

90’

Dimension (mm)

Z
=)
m
X
=
-
C
Z
@

Type Weight

(kg)
PF02.09A22.050.05 40 50 22 40 6.5 A 5 0.3
PF02.09A22.063.06 50 63 22 40 6.5 A 6 0.5
PF02.09A27.080.08 60 80 27 50 6.5 A 8 0.9
PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7
PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

Insert Insert Screw Wrench

4

SEETO09T308PER TL60 M3X7 TO8T

E027




bohlente

90’

@0 ‘s

[ X]

£0 ‘05! @02
. 7avel 70!

Dimension (mm)

P4
&)
ul
X
Category Type Adapter Tooth =
o0: o0 e =
-
PF02.12A22.050.03 40 50 22 40 10 A 3 E
Z
PF02.12A22.063.04 50 63 22 40 10 A 4 0.65 @
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
%’ PF02.12B32.100.05 70 100 32 50 10 B 5 1.2
o
4 PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 4.1
PF02.12C60.200.10 140 200 60 63 10 C 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5 0.65
% PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
=}
Iy PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
a
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

Threaded Sleeve Insert Screw wrench Wrench

SEET120308PER S12BSX SM0508 TL60 M3.5X10 T15T S3.5

E028




bohlente /N

@0 '8
()
I
[ X]
£0 050 @02
— . 7evel 2o
P
»)
2
i i mm
Category Type Dimension ( ) Adapter| Tooth
=
-
E PF02.12A22.050.05 40 50 22 40 10 A 5
P
(0] PF02.12A22.063.06 50 63 22 40 10 A 6 0.65
PF02.12A27.080.08 60 80 27 50 10 A 8 0.9
= PF02.12B32.100.10 70 100 32 50 10 B 10 1.2
c
g PF02.12B40.125.12 80 125 40 63 10 B 12 3.1
® PF02.12C40.160.14 100 160 40 63 10 C 14 41
PF02.12C60.200.16 140 200 60 63 10 C 16 6.1
PF02.12C60.250.18 200 250 60 63 10 (¢} 18 10.9
PF02.12D60.315.24 250 315 60 63 10 D 24 21.6

Threaded Sleeve Insert Screw wrench Wrench

SEET120308PER S12BSX SM0508 TL60 M3.5X10 T15T S3.5

E029




bohlente

PFO3

[oXe]
@02

Z
(w)
u
Category Type Dimension (mm) Adapter X
oD: o o H =
-
PF03.15B40.125.06 80 125 40 63 E
PF03.15C40.160.08 100 160 40 63 8 C 8 5.1 (o)
LN15
PF03.15C60.200.10 150 200 60 63 8 C 10 6.5
PF03.15C60.250.12 200 250 60 63 8 C 12 115
PF03.15D60.315.16 250 315 60 63 8 D 16 19.8
Insert Shim Insert Screw Shim Screw
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 T15T T10T
LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 T15T T20T
E030




bohlente /N

PFO3

[oXe]
@02

E
O
ul
x Category Type Dimension (mm) Adapter
=
-
E PF03.20B40.125.06 80 125 40 63 12 B 6 3.2
@ LN20 PF03.20C40.160.08 100 160 40 63 12 C 8 5.1
PF03.20C60.200.10 150 200 60 63 12 C 10 6.5
PF03.20C60.250.12 200 250 60 63 12 © 12 11.5
PF03.20D60.315.15 250 315 60 63 12 D 15 19.8
PF03.25B40.125.05 80 125 40 63 15 B 5 3.2
PF03.25C40.160.06 100 160 40 63 15 C 6 5.1
LNEs PF03.25C60.200.08 150 200 60 63 15 C 8 6.5
PF03.25C60.250.10 200 250 60 63 15 C 10 11.5
PF03.25D60.315.12 250 315 60 63 15 D 12 19.8
Insert Insert Screw Shim Screw
a
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 TI5T T10T
LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 TI5T T20T
E031




bohlente

90’

,\ - ]n)
&

¥0 080
120z podd

-

@ D2

Dimension (mm)

Z

(w)

u

Type Adapter Tooth ;

_ o o0 | e M =

-

PF04.12A22.050.03 40 50 22 40 9 A 3 E

PF04.12A22.063.04 50 63 22 40 9 A 4 0.6 ()
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9
PF04.12B32.100.05 70 100 32 50 9 B 5 1.3
PF04.12B40.125.06 80 125 40 63 9 B 6 2.7

PF04.12C40.160.08 100 160 40 63 9 C 8 41

PF04.12C60.200.10 150 200 60 63 9 C 10 6.2
PF04.12C60.250.12 180 250 60 63 9 C 12 10.7

Threaded Sleeve Insert Screw

R290-12T308 S12BSX SM0508 TL60 M3.5X10 T15T S3.5

E032




bohlente /N

Dimension (mm)

P

w)

m

X Type Adapter | Tooth Weight

= (ko)

=

E PF05.22A27.080.05 60 80 27 50 14 A 5 0.9

P

Q PF05.22B32.100.06 70 100 32 50 14 B 6 15
PF05.22B40.125.08 80 125 40 63 14 B 8 2.4
PF05.22C40.160.10 100 160 40 63 14 © 10 4.0
PF05.22C60.200.12 150 200 60 63 14 C 12 57
PF05.22C60.250.14 180 250 60 63 14 C 14 10.3

Insert Screw

A <

TNGX2207PNTN TL60 M5X12 T20T

E033




Type

PF06.12A22.050.04
PF06.12A22.063.05
PF06.12B27.080.06
PF06.12B32.100.07
PF06.12B40.125.08
PF06.12C40.160.12
PF06.12C60.200.16

PF06.12C60.250.18

SOMT12T308PEER

S12BSX

50

60

70

80

100

150

180

80

100

125

160

200

250

Threaded Sleeve

SM0508

Dimension (mm)

27

32

40

40

60

60

50

50

63

63

63

63

Insert Screw

TL60 M3.5X10

Wrench

Adapter

o O O

Tooth

0.5

0.6

1.4

2.2

3.5

6.2

10.7

Wrench

E034

S3.5

ONITTIIN X3ANI




bohlente /N

'szzgq;gﬁg

=z

=)

m . .

X Type Dimension (mm) Adapter| Tooth Weight

-

E PF07.12A22.050.04 40 50 22 40 10 A 4 0.3

Z

@ PF07.12A22.063.05 50 63 22 40 10 A ) 0.5
PF07.12A27.080.06 60 80 27 50 10 A 6 1.0
PF07.12B32.100.07 70 100 32 50 10 B 7 1.5
PF07.12B40.125.08 80 125 40 63 10 B 8 25
PF07.12C40.160.10 100 160 40 63 10 C 10 4.5
PF07.12C60.200.12 150 200 60 63 10 C 12 8.3

Insert Threaded Sleeve Insert Screw Wrench Wrench

o

XDMT120408PDER S12BSX SM0508 TL60 M3.5X10 T15T S3.5

E035




PFO8

@D

ap

@ d
@ D2

Type Dimension (mm) Adapter| Tooth | Weight

ONITTIIN X3ANI

PF08.17B27.080.05 60 80 27 50 14 B 5 1.0
PF08.17B32.100.06 70 100 32 50 14 B 6 1.8
PF08.17B40.125.06 80 125 40 63 14 B 6 2.4
PF08.17B40.160.08 100 160 40 63 14 B 8 4.0
PF08.17C60.200.10 150 200 60 63 14 C 10 6.5
PF08.17C60.250.12 180 250 60 63 14 C 12 12.3

Insert Insert Screw Wrench

g :

LNMX170808PNSR TL60 M4X12 T15T

E036




bohlente /N

.y, 20080
L24R0 "0

pa

»)

m

x Type Dimension (mm) Adapter| Tooth Weight

=

E PF09.08A22.050.05 40 50 22 40 6 A 5 0.3

(0] PF09.08A22.063.06 50 63 22 40 6 A 6 0.5
PF09.08B27.080.07 60 80 27 50 6 B 7 1.0
PF09.08B32.100.08 70 100 32 50 6 B 8 1.8
PF09.08B40.125.11 80 125 40 63 6 B 11 2.4
PF09.08B40.160.12 100 160 40 63 6 B 12 3.8
PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

Insert Insert Screw Wrench

a ~

XNEX0806 TL60 M4X12 T15T

E037




bohlente

Z

&)

ul

Dimension (mm) Adapter| Tooth Weight X

(ko) =

-

PF10.08A22.063.03 63 47 22 40 10.4 8 6.3 A 3 0.5 E

Z

PF10.08A27.080.04 80 60 27 50 12.4 8 6.3 A 4 1.0 (o)
PF10.08B32.100.05 100 70 32 50 14.4 8 8 B 5 1.3
PF10.08B40.125.06 125 80 40 63 16.4 8 9 B 6 2.5
PF10.08B40.160.08 160 100 40 63 16.4 8 9 B 8 3.8
PF10.08C60.200.10 200 150 60 63 25.7 8 14 C 10 6.0
PF10.08C60.250.12 250 180 60 63 25.7 8 14 C 12 8.4
PF10.08A22.063.04 63 47 22 40 10.4 8 6.3 A 4 0.5
PF10.08A27.080.05 80 60 27 50 12.4 8 6.3 A 5 1.0
PF10.08B32.100.07 100 70 32 50 14.4 8 8 B 7 1.3
PF10.08B40.125.08 125 80 40 63 16.4 8 9 B 8 2.5
PF10.08B40.160.10 160 100 40 63 16.4 8 9 B 10 3.8
PF10.08C60.200.12 200 150 60 63 25.7 8 14 C 12 6.0
PF10.08C60.250.14 250 180 60 63 25.7 8 14 C 14 8.4

Insert Insert Screw Wrench

o

WNMU080608 TL60 M5X13 T20T

E038




bohlente /N

RFO1

L
L1
>—'<%
(@] O
IS IS

A
Q_
Z
w)
m
; Tooe Dimension (mm) Adapter | Tooth
= _r o> e L L
-
E RF01.10W20.025.02 5 25 20 100 30 5 W 2
P
O RF01.10W25.032.02 5 32 25 120 35 5 W 2 0.5
RFO01.12W32.040.03 6 40 32 120 40 6 w 3 0.7
RF01.12W32.050.03 6 50 32 120 40 6 w 3 0.8

Insert Insert Screw

RCKT10T3MO-DM TL60 M4X10 T15

RCKT1204MO-DR TL60 M4X10 T15

E039




bohlente

Lzag1 ‘1040

Z

O

u

Type Dimension (mm) Adapter | Tooth Weight x

R @D ad H @D2 ap (ka) |§

RF01.12A22.063.04 6 63 22 50 50 6 A 4 0.7 E

RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7 Q
RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2
RF01.20B40.125.07 10 125 40 63 80 10 B 7 2.2
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

Insert Insert Screw Wrench
RCKT1204MO-DR TL60 M4X10 T15T
RCKT1606MO-DR TL60 M5X12 T20T

RCKT2006MO-DR TL60 M6X16 TosT

E040




bohlente /N

RFO02

Ll

@D

[

Dimension (mm) Adapter|  Tooth | Weight

Z
=)
m
X
=
-
C
Z
@

e (ka)
RF02.08W16.016.02 4 16 16 100 25 4 W 2 0.1
RF02.08W25.025.02 4 25 25 100 30 4 W 2 0.3
RF02.10W32.032.02 5 32 32 120 40 5 w 2 0.7
RF02.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF02.12W32.050.04 6 50 32 120 40 6 W 4 0.8

Insert Insert Screw Wrench
RDKWO0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15

RDKW1204MO TL60 M4X10 T15

E041




bohlente

Dimension (mm)

Z

O

u

Type Adapter Tooth X

=

-

RF02.12A22.050.03 6 50 22 40 40 6 A 3 E

RF02.12A22.063.04 6 63 22 50 50 6 A 4 0.5 ()
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 3.7

Insert Insert Screw Wrench
RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T

RDKW2006MO TL60 M6X16 T25T

E042




bohlente

4

w)

m

X Category Typs Dimension (mm)

= _ " oD | o | H | oD

=

r RF03.12A22.050.04 6 50 22 40 40

Z

(@) RP12  RF03.12A22.063.05 6 63 22 45 50 6 A 5 0.7
RF03.12B27.080.06 6 80 27 50 60 6 B 6 1.2
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7

RP16  RF03.16A27.080.05 8 80 27 50 60 8 A 5 1.2

RF03.16B32.100.06 8 100 32 63 70 8 B 6 16

Insert Insert Screw Wrench

RPMT1204MO TL60 M4X10 WD204 T15T

RPMT1606MO TL60 M5X12 WD208 T20T

E043




Type

RF04.12A22.050.04
RF04.12A22.050.05
RF04.12A22.063.05
RF04.12A22.063.06

RF04.12A27.080.06

Insert

QPMT120440

40

40

50

50

60

Dimension (mm)

50
50
63
63

80

22

22

22

22

27

Insert Screw

TL60 M4X10

40

40

40

40

50

Adapter Tooth

Wrench

E044

Weight
(kg)

0.2
0.2
0.4
0.4

0.9

ONITTIIN X3ANI




bohlente /N

90’

P
w)
m
; Dimension (mm) Adapter  Tooth  Weight
— (kg)
=
E PE01.11216.012.01 12 16 85 25 10.5 z 1 0.1
() PE01.11216.016.02 16 16 90 25 10.5 z 2 0.1
PE01.11220.020.02 20 20 100 30 105 z 2 0.2
PE01.11225.025.03 o5 o5 115 a5 105 Z 3 0.4
AP PE01.11232.032.04 3 32 195 2 105 7 4 07
PE01.11W16.012.01 12 . 85 o5 e W . .
PE01.11W16.016.02
16 16 90 25 10.5 w 2 0.1
PE01.11W20.020.02
20 20 100 30 10.5 w 2 0.2
PE01.11W25.025.03
25 25 115 35 10.5 w 3 0.4
PEO1.11W32.032.04
32 32 125 40 10.5 w 0.7
PE01.16225.025.02 25 25 115 35 15.5 z 0.4
PE01.16232.032.03 32 32 125 40 15.5 z 3 0.7
AP16 PE01.16232.040.04 40 32 130 42 15.5 z 4 0.8
PE01.16W25.025.02 25 25 115 35 15.5 w 2 0.4
PE01.16W32.032.03 32 32 125 40 15.5 w 3 0.7
PEO1.16W32.040.04 40 32 130 42 15.5 w 4 0.8

Insert Screw

APKT11T3[[] TL60 M2.5X6.5

APKT1604[][] TL60 M4X10 T15

E045




Category

AP11

AP16

Type

PE01.11A22.050.06
PE01.11A22.063.08
PE01.11A27.080.08
PE01.11B32.100.10
PE01.16A22.050.05
PE01.16A22.063.06
PE01.16A27.080.07
PE01.16B32.100.08
PE01.16B40.125.10

PE01.16B40.160.10

APKT11T301[]

APKT1604[1]

50

63

80

100

50

63

80

100

125

160

22

22

27

32

22

22

27

32

40

40

Dimension

40

50

60

70

40

50

60

70

80

100

Insert Screw

(mm)

TL60 M2.5X6.5

TL60 M4X10

40

40

50

50

40

40

50

50

63

63

15.5

15.5

15.5

15.5

15.5

15.5

Adapter

> > >

TO8

T15

Tooth

E046

0.3

0.6

1.7

0.3

0.5

1.6

3.2

6.3

ONITTIIN X3ANI




Z
=)
m
X
=
-
r
=
()

bohlente

PEO2

Type

PE02.11W20.020.01

PE02.11W25.025.02

PE02.11W32.032.02

PE02.11W32.040.02

Insert

i
L~

APKT11T3[I[]

E047

32

40

32

32

120

130

140

150

Insert Screw

T

TL60 M2.5X6.5

65

75

29

39

48

55

Adapter

= = = =

Wrench

TO8

Weight

(kg)

0.3

0.4

0.7

1.3




@D
. @
| [aR
7 : 0
| T el
A
A
@ d
@ D2

Dimension (mm)

Type Adapter
o0 od oo
PEO2.11A22.050.04 50 22 40 58
PEO02.11A27.063.04 63 27 50 58 39 A 4 0.9
PEO02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

Insert Insert Screw Wrench

e *

APKT11T3[I[] TL60 M2.5X6.5 TO8

E048

ONITTIIN X3ANI




bohlente /N

90’
PEO3

" L

@D

[oXe]

P
)
m ; .
X Category Type el e (i) Adapter Weight
= BRI S TR
=
C AP11 PE03.11W25.025 25 25 130 40 20 :
pa
o PE03.16W32.032 32 32 140 50 30 w 3 08
AP16
PE03.16W32.040 40 32 150 50 30 w 3 1.0

Insert Insert Screw Wrench

g

APMT113504PDER TL60 M2.5X6.5 TO8

APMT160408PDER TL60 M4X10 T15

E049




bohlente

Z

(w)

2

Dimension (mm
Type ( ) Adapter Tooth

=

-
PE04.15A16.040.04 35 40 16 40 13 A 4 0.3 E

pa
PE04.15A22.050.05 40 50 22 40 13 A 5 0.5 ()
PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7
PE04.15B32.100.08 70 100 32 50 13 B 8 1.7
PE04.15B40.125.10 80 125 40 63 13 B 10 2.6
PE04.15B40.160.12 100 160 40 63 13 B 12 3.5

Insert Insert Screw Wrench

*

LDO15041] TL60 M3.5X12 T15

E050




bohlente

PEOS

Ll
B,

@0
@
Bd

Dimension (mm)

=z

»)

ul

X .

= Type Adapter| Tooth Weight

= e o | | U (9

=

rC PE05.17W25.025.02 25 25 100 35 14 w 2 0.3

pa

@ PEO05.17225.025.02 25 25 200 45 14 z 2 0.5
PEO05.17W32.032.03 32 32 110 40 14 w 3 1.2
PE05.17232.032.03 32 32 200 45 14 z 3 1.8
PE05.17W32.040.04 40 32 115 45 14 w 4 2.4
PE05.17232.040.04 40 32 250 45 14 z 4 3.2

Insert Screw

APKT1705PER TL60 M4X10 T15

E051




bohlente

e mfEe

Z

O

Y.

Type Dimension (mm) Adapter| Tooth -

o0 o0 od H =

-

PE05.17A16.040.04 35 40 16 40 14 A 4 E

PE05.17A22.050.05 40 50 22 40 14 A 5! 0.4 Q
PE05.17A22.063.06 50 63 22 40 14 A 6 0.5
PE05.17A27.080.07 60 80 27 50 14 A 7 1)
PE05.17B32.100.08 70 100 32 50 14 B 8 1.5
PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PEO05.17C60.200.12 150 200 60 63 14 C 12 7.0

Insert Insert Screw Wrench

APKT1705PER TL60 M4X12 T15T

E052




bohlente /N

PEOG6

=z

»)

Y,

= Category Type Dimension (mm) Adapter Tooth

= _ o0 o L L

o

r PE06.12216.016.02.S 16 16 100 25 10 z 2

P

@ PE06.12Z16.016.02.M 16 16 145 25 10 z 2 0.5
PE06.12Z20.020.03.S 20 20 110 30 10 Z 3 0.6
PE06.12Z220.020.03.M 20 20 150 40 10 z 5 0.8

AX PEO06.12225.025.04.S 25 25 120 35 10 z 4 1.0
12
PE06.12Z25.025.04.M 25 25 170 50 10 z 4 1.5
PE06.12Z32.032.05.S 32 32 130 40 10 4 5 2.0
PE06.12Z32.032.05.M 32 32 180 60 10 z 5 24
PE06.12232.040.06.S 40 32 150 30 10 z 6 2.5
PE06.12Z232.040.06.M 40 32 180 30 10 z 6 3.2
PE06.17Z225.025.02.S 25 25 120 35 14 z 2 1.0
PE06.17Z25.025.02.M 25 25 170 50 14 z 2 1.5
AX17  PE06.17Z32.032.03.S 32 32 130 40 14 z 3 2.0

PE06.17232.032.03.M 32 32 180 60 14 z 5 24
PE06.17232.040.04.S 40 32 170 50 14 Z 4 2.5
PE06.17Z232.040.04.M 40 32 220 50 14 z 4 3.2

Insert Screw

AXMT1235][JPEER TL60 M3X7

AXMT1705JJPEER TL60 M4X10 T15

E053




bohlente

90’

@D

ap

4

O

m

Category Type Adapter Tooth Weight ;

(kg) —

=

PE06.12A16.040.06 40 16 35 40 10 A 6 03 E

AX12  pE06.12A22.050.07 50 22 40 40 10 A 7 0.3 ®
PE06.12A22.063.08 63 22 50 40 10 A 8 05
PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 05
PE06.17A27.080.07 80 27 60 50 14 A 7 17
PE06.17B32.100.08 100 32 70 50 14 B 8 a2
PE06.17B40.125.09 125 40 80 63 14 B 9 6.3

Insert Insert Screw Wrench
g5

[

AXMT1235[][JPEER TL60 M3X7 TO8T

AXMT1705JJPEER TL60 M4X10 T15T

E054




bohlente /N

90’
PEO7

L1

@D
?d

op

Z
w)
m
>< Category Type Dimension (mm) Adapter Tooth
= _ o0 os L U
=
r PE07.10Z20.020.03.S 20 20 130 35 17 z 1
Z
(0] PE07.10Z20.020.03.M 20 20 185 60 17 z 1 0.5
AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2
PE07.10225.025.04.M 25 25 220 75 26 z 1 1.8
PE07.10Z25.030.04.S 30 25 150 50 35 z 1 2.4
PE07.10225.030.04.M 30 25 230 50 35 z 1 3.2
PE07.16232.032.04.S 32 32 150 50 39 z 1 0.3
PE07.16232.032.04.M 32 32 230 90 39 z 1 0.5
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4
PE07.16Z32.040.04.M 40 32 240 50 39 z 1 3.2

Insert Insert Screw Wrench

& , > 2l

APMT1035[][JPDER TL60 M2.5X6.5 TO8

APMT1605[][JPDER TL60 M3.5X10 T15

E055




PEOS8

Category

ADO8

AD12

Type

PE08.08W16.016.02
PE08.08W20.020.03
PE08.08W25.025.04
PE08.08W32.032.05
PE08.08W32.040.06
PE08.08Z16.016.02
PE08.08Z20.020.02
PE08.08Z25.025.03
PEO08.12W25.025.03
PEO08.12W32.032.04
PEO08.12W32.040.05
PE08.12Z25.025.03
PE08.12Z32.032.04

PEO08.12Z32.040.05

Insert
ADMTO080304R

ADMT120408R

16

20

25

32

40

16

20

25

25

32

40

25

32

40

16

20

25

32

32

16

20

25

25

32

32

25

32

32

Dimension (mm)

90
90
100
110
110
180
200
200
100
110
110
200
250

250

Insert Screw

e

TL60 M2.5X6.5

TL60 M3X8

34

39

43

49

40

34

39

43

43

49

40

43

49

45

Adapter

N = = = N N N = = = = =

N

Wrench

Tooth

TO8

T10

E056

Weight
(kg)

0.1
0.2
0.3
0.6
0.7
0.3
0.5
0.7
0.35
0.6
0.7

0.7

ONITTIIN X3ANI




bohlente /N

=z

w)

m . .

> Category Type Dimension (mm) Adapter

=

-

rC PE08.08A16.040.06

- ADO8

(0] PE08.08A22.050.07 50 22 40 40 8 A 7 0.38
PE08.12A16.040.05 40 16 35 40 11.5 A 5 0.2
PE08.12A22.050.06 50 22 40 40 11.5 A 6 0.3
PE08.12A22.063.07 63 22 50 40 11.5 A 7 0.6

AD12
PE08.12A27.080.08 80 27 60 50 11.5 A 8 1.1
PE08.16A16.040.04 40 16 35 40 15 A 4 0.2
PE08.16A22.050.05 50 22 40 40 15 A 5 0.3
AD16 PE08.16A22.063.06 63 22 50 40 15 A 6 0.6

PE08.16A27.080.07 80 27 60 50 15 A 7 1.0
PE08.16B32.100.08 100 32 70 50 15 B 8 1.6
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4
PE08.16C40.160.12 160 40 100 63 15 c 12 43

Insert Screw Wrench
ADMTO080304R TL60 M2.5X6.5 TO8
ADMT120408R TL60 M3X8 T10

ADMT160608R TL60 M4X10 Ti5

E057




PEO9S

Category

11

17

Type

PE09.11Z16.016.02
PE09.11Z20.020.02
PE09.11Z25.025.03
PE09.11Z32.032.03
PE09.11Z32.040.04
PE09.11W16.016.02
PE09.11W20.020.02
PE09.11W25.025.03
PE09.11W32.032.03
PE09.11W32.040.04
PE09.17Z25.025.02
PE09.17Z32.032.03
PE09.17Z32.040.04
PE09.17W25.025.02
PE09.17W32.032.03

PE09.17W32.040.04

R390-11T3[1[]

R390-17041]

16

20

25

32

40

16

20

25

32

40

25

32

40

25

32

40

20

25

32

32

20

25

32

32

25

32

32

25

32

32

bohlente

Dimension (mm)

100
110
120
130
170
73

81

88

100
110
120
130
170
88

100

110

Insert Screw

TL60 M2.5X6.5

TL60 M3.5X10

20

25

32

40

40

25

25

32

40

40

32

40

40

32

40

40

10

10

10

10

10

10

10

10

10

10

15.7

15.7

15.7

i15%7

15.7

15.7

= £ £ £ 2 N

N N

N

= = =

TO8

T15

2 0.3
2 0.4
3 0.5
3 0.8
4 1.7
2 0.3
2 0.4
3 0.5
3 0.8
4 1.7
2 0.4
3 0.8
4 0.9
2 0.4
3 0.8
4 0.9

E058

ONITTIIN X3ANI




bohlente /N

@0 .
AJL\

]

> o T

' &

I |
< s:o'o_if” ¢d
VLT 60O Qé [)22

Dimension (mm)

Z
=)
m
X
=
-
r
=
()

Category Type Adapter Tooth Weight
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4
» PE09.11A22.050.05 50 22 40 40 10 A 5 0.5
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 15.7 B 8 2.7

Insert Insert Screw Wrench

e

R390-11T3[1[] TL60 M2.5X6.5 TO8

R390-1704[1[] TL60 M3.5X10 T15

E059




PE10

@d

Dimension (mm)

ONITTIIN X3ANI

Category Type Adapter Tooth
e

PE10.11Z216.016.02 16 16 100 30 10 z 2

11 PE10.11220.020.03 20 20 110 32 10 YA 3] 0.3
PE10.11Z25.025.03 25 25 120 32 10 4 3 0.3
PE10.11Z32.032.04 32 32 130 40 10 z 4 0.4
PE10.17Z25.025.02 25 25 120 36 15.7 z 2 0.3

i PE10.17Z232.032.03 32 32 130 40 15.7 z 3 0.4
PE10.17232.040.04 40 32 150 40 15.7 4 4 0.5

Insert Insert Screw Wrench

BDMT11T3[JCIER TL60 M2.5X6.5 TO8

BDMT1704JJER TL60 M4X10 T15

E060




bohlente /N

90’

Z
=)
2
Dimension (mm) )
= Category Type Tooth Weight
= (kg)
o
E PE10.11A22.050.07 50 22 40 40 10 A 7 0.5
@ 11 PE10.11A22.063.08 63 22 50 40 10 A 8 0.6
PE10.11A27.080.10 80 27 60 50 10 A 10 0.9
PE10.17A22.050.05 50 22 40 40 15.7 A 5 0.4
PE10.17A22.063.06 63 22 50 40 15.7 A 6 0.6
17
PE10.17A27.080.08 80 27 60 50 15.7 A 8 0.8
PE10.17B32.100.09 100 32 70 50 15.7 B 9 1.5

Insert Insert Screw Wrench

BDMT11T3[ICIER TL60 M2.5X6.5 TO8

~

BDMT1704[]JER TL60 M4X10 T15

E061




N
N
4
w)
Y.
Bl Toae Dimension (mm) -
o0 =
PE11.10A16.040.05 40 E
PE11.10A22.050.06 50 22 40 40 8 A 6 0.3 (@)
AP10  pE11.10A22.063.07 63 22 50 40 8 A 7 0.6
PE11.10A27.080.08 80 7 60 50 8 A 8 1.1
PE11.10B32.100.10 100 32 70 50 8 B 10 1.6

Insert Screw

L

APKT100304PDER TL60 M2.5X6.5 TO8

E062




bohlente /N

90’

@D

ap

1 N

?d
@ D2

Dimension (mm)

Z
=)
m
X
=
-
r
=
()

Type Adapter Tooth Weight
PE12.15A22.050.04 50 22 40 40 14 A 4 0.4
PE12.15A22.063.06 63 22 50 40 14 A 6 0.6
PE12.15A27.080.07 80 27 60 50 14 A 7 1.2
PE12.15B32.100.8 100 32 70 50 14 B 8 2.4
PE12.15B40.125.10 125 40 80 63 14 B 10 38
PE12.15B40.160.12 160 40 100 63 14 B 12 46

Insert Screw

~

LNIX151008PNR TL60 M4X10 T15T

E063




RBO1

RB01.20W20.020.S
RB01.20W20.020.M
RB01.20W20.020.L
RB01.25W25.025.S
RB01.25W25.025.M
RB01.25W25.025.L
RB01.32W32.032.S
RB01.32W32.032.M
RB01.32W32.032.L
RB01.40W32.040.S
RB01.40W32.040.M

RB01.40W32.040.L

Insgrt

ZDET08T2CYR10

ZDET1103CYR12.5

ZDET13T3CYR16

ZPNT2204CYR20

20

25

25

25

32

32

32

40

40

40

25

25

25

32

32

32

32

32

32

SPMT060304

SPMT060304

SDMT090308

SPMT120408

Dimension (mm)

200
150
175
200
175
200
250
175
200

250

100

70

95

100

85

100

150

50

50

50

Insert Screw

TL60 M2.5X5

TL60 M2.5X5

TI60 M3.5X10

TL60 M5X13

20

20

20

23

23

23

31

31

31

41

41

41

= £ £ £ £ £ £ £ 5 £ = =

Wrench
TO8
TO8
T15

T20

E064

0.3

0.3

0.4

0.5

0.6

0.7

0.9

1.1

1.4

1.4

1.7

21

ONITTIIN X3ANI




bohlente /N

RBO2

=z

»)

m . .

x Dimension (mm) Adapter Weight

= (kg)

o

E RB02.16W20.016.S 16 20 111 60 16 w 2 0.2

pa

(0] RB02.20W25.020.S 20 25 127 70 20 w 2 0.3
RB02.20W25.020.M 20 25 150 80 20 w 2 0.4
RB02.25W25.025.S 25 25 137 80 25 w 2 0.4
RB02.25W25.025.M 25 25 200 100 25 w 2 0.6
RB02.30W32.030.S 30 32 161 100 30 W 2 0.8
RB02.30W32.030.M 30 32 250 150 30 w 2 1.3
RB02.32W32.032.S 32 32 161 100 32 w 2 0.8
RB02.32W32.032.M 32 32 250 120 32 w 2 1.3

Insert Insert Screw Wrench
XPHT16R803 TL60 M2.5X6 TO8
XPHT20R10T3 TL60M3.5X8 T15
XPHT25R1204 TL60 M4X10 T15
XPHT30R1506 WD208 TL60 M5X12 T20

XPHT32R1606 WD208 TL60 M5X12 T20

E065




RBO02

RB02.16Z20.016.S

RB02.16Z20.016.M

RB02.20Z25.020.S

RB02.20Z25.020.M

RB02.20Z25.020.L

RB02.25Z225.025.S

RB02.25Z25.025.M

RB02.25Z225.025.L

RB02.30Z32.030.S

RB02.30Z32.030.M

RB02.30Z32.030.L

RB02.32Z32.032.S

RB02.32Z32.032.M

RB02.32Z32.032.L

XPHT16R803

XPHT20R10T3

XPHT25R1204

XPHT30R1506

XPHT32R1606

20

20

20

25

25

25

30

30

30

32

32

32

20

20

25

25

25

25

25

25

32

32

32

32

32

32

WD208

WD208

Dimension (mm)

150
180
180
200
250
180
200
250
200
250
300
200
250

300

70
80
80
100
150
80
100
110
120
150
200
120
150

200

Insert Screw

TL60 M2.5X6
TL60M3.5X8
TL60 M4X10
TL60 M5X12

TL60 M5X12

20

20

20

25

25

25

30

30

30

32

32

32

TO8

T15

T15

T20

T20

E066

0.5

0.6

0.7

0.6

0.7

0.8

ONITTIIN X3ANI




bohlente /N

RBO2

MT

Z

w)

m

i i mm

> Dimension (mm) S

=

-

E RB02.20MT3.020.M 20 3 156 70 20 2

Z

O RB02.20MT3.020.L 20 3 186 100 20 2 0.4
RB02.25MT3.025.M 25 3 156 70 25 2 0.4
RB02.25MT3.025.L 25 3 186 100 25 2 0.4
RB02.30MT4.030.M 30 4 189 70 30 2 0.8
RB02.30MT4.030.L 30 4 229 120 30 2 1.0
RB02.32MT4.032.M 32 4 179 70 32 2 0.9
RB02.32MT4.032.L 32 4 209 100 32 2 0.9

Insert Insert Screw Wrench
XPHT16R803 TL60 M2.5X6 TO8
XPHT20R10T3 TL60M3.5X8 T15
XPHT25R1204 TL60 M4X10 T15
XPHT30R1506 WD208 TL60 M5X12 T20

XPHT32R1606 WD208 TL60 M5X12 T20

E067




RBO3

e Ll

@D
@d

Z

O

u

Dimension (mm) Adapter| Tooth Weight X

(kg) E

=

RB03.12Z12.012.M 12 12 125 35 6 z 1 0.1 E

612 RB03.12Z12.012.L 12 12 150 45 6 z 1 0.1 (@)
RB03.12Z16.012.M 12 16 125 50 6 z 1 0.2
RB03.12Z16.012.L 12 16 150 70 6 z 1 0.2
RB03.16Z216.016.M 16 16 150 40 8 z 1 0.2
¢16 RB03.16Z216.016.L 16 16 180 55 8 z 1 0.3
RB03.16220.016.M 16 20 150 60 8 z 1 0.3
RB03.16220.016.L 16 20 180 80 8 z 1 0.3
RB03.20Z20.020.M 20 20 180 65 10 z 1 0.4
RB03.20Z20.020.L 20 20 250 100 10 z 1 0.6

¢20

RB03.20Z25.020.M 20 25 180 75 10 z 1 0.6
RB03.20Z25.020.L 20 25 200 95 10 z 1 0.8

Insert Insert Screw Wrench
Diameter : ‘
¢12 ZOHX1203 170 M4X10TT
¢16 ZOHX1604 170 M5X12TT T20
¢20 ZOHX2005 170 M5X16TT T20
¢25 ZOHX2506 170 M6X20TT T20
¢ 30 ZOHX3007 170 M8X25TT T30S

¢32 ZOHX3207 170 M8X25TT T30S

E068




bohlente /N

RBO3

L1

@D
@d

Z
w)
Y,
Di i mm
= Category Type EmSe ) Adapter Tooth
= _ o0 o L Ul
-
r RB03.25Z25.025.M 25 25 200 70 12,5 z 1
P
O ¢ 25 RB03.25Z225.025.L 25 25 250 100 125 Zz 1 0.9
RB03.25Z32.025.M 25 32 200 90 12.5 Z 1 1.0
RB03.25Z32.025.L 25 32 250 110 125 z 1 1.3
RB03.30Z32.030.M 30 32 250 80 15 z 1 1.2
¢ 30
RB03.30Z32.030.L 30 32 300 110 15 Z 1 1.5
RB03.32232.032.M 32 32 250 80 16 z 1 1.4
¢32
RB03.32Z32.032.L 32 32 300 110 16 z 1 1.7
Insert Insert Screw Wrench
Diameter a ‘
¢12 ZOHX1203 170 M4X10TT
¢16 ZOHX1604 170 M5X12TT T20
¢20 ZOHX2005 170 M5X16TT T20
¢25 ZOHX2506 170 M6X20TT T20
¢ 30 ZOHX3007 170 M8X25TT T30S
¢ 32 ZOHX3207 170 M8X25TT T30S
E069




RB04

4

O

m

Dimension (mm) Adapter | Tooth | Weight x

(ko) =

=

RB04.20Z25.020.S 20 25 140 60 20 z 2 0.3 E

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5 (@)
RB04.20Z25.020.L 20 25 250 80 20 z 2 0.7
RB04.25232.025.S 25 32 150 70 23 z 2 0.6
RB04.25232.025.M 25 32 220 75 23 z 2 0.8
RB04.25232.025.L 25 32 300 100 23 z 2 1.0
RB04.30Z32.030.S 30 32 160 80 28 z 2 0.9
RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2
RB04.30Z32.030.L 30 32 350 120 28 z 2 1.8

Insert Insert Insert Screw Wrench
ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10
ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15

ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60M5X12 T15/T20

EQ070




bohlente

PTO1

L
L1
[m] jo)
A8 LS8
o 1
LSS
Z
w)
m
3 Dimension (mm) S Weight
E (kg)
—
E PT01.06W25.021.01.H9 21 25 10 100 32 9 1 0.2
Z
O PT01.06W25.025.01.H11 25 25 12 100 35 11 1 0.3
PT01.08W32.032.02.H14 32 32 15 110 45 14 2 0.5
PT01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7
PT01.12W40.050.02.H22 50 40 25 140 65 22 2 1.2

Insert Insert Screw Wrench
MPHT060304-DM TL60M2.5X6.5 To8
MPHT080305-DM TL60M3X7 T10

MPHT120408-DM TL60MS5X11 T20

EQ071




PTO1

Category

MPO06

MPO08

MP12

PT01.06J27.080.10.H8

PT01.06J32.100.14.H8

PT01.06J32.100.14.H10

PT01.06J40.125.16.H10

PT01.08J40.125.12.H12

PT01.08J40.160.14.H12

PT01.12J40.160.12.H16

PT01.12J40.160.12.H18

PT01.12J40.160.12.H20

PT01.12J50.200.14.H16

PT01.12J50.200.14.H18

PT01.12J50.200.14.H20

Insert

MPHT060304-DM

MPHT080305-DM

MPHT120408-DM

100

100

125

125

160

160

160

160

200

200

200

47

47

55

55

62

62

62

62

72

72

72

Dimension (M

o0 | oot | od |
80 41 27

32

32

40

40

40

40

40

40

50

50

50

Insert Screw

TL60 M2.5X6.5

TL60M3X7

TL60 M5X11

m)

12

12
14
14
16
16
20
24
26
20
24

26

Wrench

TO8T

T10T

T20T

EQ072

Weight
(ka)

0.2
0.3
0.4
0.6
0.7
1.3
1.6
1.9
2.1
25
2.9

3.3

ONITTIIN X3ANI




bohlente

Dimension (mm)

oot G0 W H
45 22 40 8

Category Type

Z
=)
m
X
=
-
C
Z
@

PT01.06A22.080.10.H8 80 21
Mpog PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06B27.100.14.H10 100 55 27 40 10 24 14 B 0.7
PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 1.1
PT01.08B32.125.12.H12 125 65 32 45 12 33 12 B 14
MPO8  b101.08B40.160.14.H12 160 80 40 45 12 45 14 B 19
PT01.08C40.200.18.H12 200 92 40 50 12 53 18 C 3.2
PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 23
PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 23
VP12 PT01.12B40.160.12.H18 160 80 40 60 18 45 12 B 24
PT01.12C40.200.14.H16 200 92 40 50 16 53 14 c 26
PT01.12C40.200.14.H18 200 92 40 50 18 53 14 © 3.9
PT01.12C40.200.14.H20 200 92 40 50 20 53 14 ¢ 42

Insert Insert Screw Wrench

MPHT060304-DM TL60 M2.5X6.5 TO8T

MPHT080305-DM TL60M3X7 T10T

MPHT120408-DM TL60 M5X11 T20T

EO73




bohlente

2

O

Y,

Geierm e Dimension (mm) S Weight 5

_ o0 _od W 9 =

=

PT02.12J27.100.10.H4 100 40.7 27 12 4 10 0.2 r

Z

02 pT102.1240.125.12.H4 125 50.5 40 12 4 12 0.3 ®
PT02.12J40.160.16.H4 160 66.7 40 12 4 16 05
PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2
%% pr02.12440.125.12.H5 125 58 40 12 5 12 03
PT02.12J40.160.16.H5 160 68 40 12 5 16 0.6
PT02.12J27.100.10.H6 100 45 27 12 6 10 0.3
PT02.12J40.125.12.H6 125 58 40 12 6 12 0.4

T3

PT02.12J40.160.16.H6 160 68 40 12 6 16 0.7
PT02.12J50.200.18.H6 200 72 50 12 6 18 14
PT02.12J50.250.24.H6 250 72 50 12 6 24 17

Insert Insert Screw Wrench

XSEQ1202 191M4X3.2X TOST
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T

XSEQ12T4 191M4X6.3X T15T

EQ074




bohlente /N

Z
w)
m . .
; Category Type DLEREn (i) Weight
= (kg)
—
r PT02.12J27.100.10.H7 100 45 27 12 7 10 0.3
Z
() PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4
04
PT02.12J40.160.16.H7 160 68 40 12 7 16 0.8
PT02.12J50.200.18.H7 200 72 50 12 7 18 1.2
PT02.12J50.250.24.H7 250 72 50 12 7 24 1.9
PT02.12J27.100.10.H8 100 45 27 12 8 10 0.3
PT02.12J40.125.12.H8 125 58 40 12 8 12 0.5
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 72 50 12 8 18 1.4
PT02.12J50.250.24.H8 250 72 50 12 8 24 22

Insert Screw Wrench

XSEQ1202 191M4X3.2X TOST
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T

XSEQ12T4 191M4X6.3X T15T

EO075




PTO2

L
A '

E

O

m

Category Type s el L Adapter Tooth ;

|=

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 E

02 PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4 ®
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
I PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

Insert Screw

XSEQ1202 191M4X3.2X TOST
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T

XSEQ12T4 191M4X6.3X T15T

EQ076




bohlente /N

PTO2

L
A '

P
w)
Y,

Dimension (mm .
= Categor Type ( ) Adapter Tooth Weight
— (kg)
=
: PT02.12A22.063.06.H7 63 32 22 40 7 14 A 6
Z
O PT02.12A22.080.08.H7 80 40 22 50 7 18 A 8 0.5

04 pPT02.12A27.100.10.H7 100 48 27 50 7 23 A 10 07
PT02.12B40.125.12.H7 125 70 40 50 7 27 B 12 1.1
PT02.12B40.160.16.H7 160 70 40 50 7 41 B 16 1.4
PT02.12A22.063.06.H8 63 32 22 40 8 14 A 6 0.2
PT02.12A22.080.08.H8 80 40 22 50 8 18 A 8 0.5

T4 PT02.12A27.100.10.H8 100 48 27 50 8 23 A 10 0.8
PT02.12B40.125.12.H8 125 70 40 50 8 27 B 12 1.1
PT02.12B40.160.16.H8 160 70 40 50 8 41 B 16 1.5

Insert Screw

XSEQ1202 191M4X3.2X TOST
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T

XSEQ12T4 191M4X6.3X T15T

EOQ77




ACO1

L
L1
0 s
*
A
780
Z
&)
2
Toae Dimension (mm) Adapter|  Tooth -
@D ad L L1 —
-
AC01.12220.012.01 12 20 100 40 z 1 E
ACO01.12W20.012.01 12 20 100 40 W 1 0.2 ®
AC01.12Z25.025.02 25 25 120 40 4 2 0.4
AC01.12W25.025.02 25 25 120 40 W 2 0.4
AC01.12Z32.032.03 32 32 180 50 4 3 1.0
AC01.12W32.032.03 32 32 180 50 w 3 1.0

Insert Insert Screw Wrench

SPMT120408 TL60 M5X12 T20

E078




bohlente /N

60°

(X6

Z

w)

m

X Type (mm) Dimension Adapter| Tooth | Weight

= oo @ Ll 9

=

r DC01.12220.012.01 12 20 100 40 z 1 0.2

Z

(@) DCO01.12W20.012.01 12 20 100 40 w 1 0.2
DCO01.12225.025.02 25 25 120 40 z 2 0.4
DCO1.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12232.032.02 32 32 180 50 z 2 1.0
DCO1.12W32.032.02 32 32 180 50 w 2 1.0

Insert Insert Screw Wrench

SPMT120408 TL60 M5X12 T20

EO079




bohlente

30°

Z

O

X

T Dimension (mm) Adapter|  Tooth

=

-
ZC01.12Z20.012.01 12 20 100 40 4 1 E
Z2C01.12W20.012.01 12 20 100 40 W 1 0.2 (@)
ZC01.12Z25.025.02 25 25 120 40 4 2 0.4
ZC01.12W25.025.02 25 25 120 40 W 2 0.4
ZC01.12Z32.032.03 32 32 180 50 z 3 1.0
ZC01.12W32.032.03 32 32 180 50 W 3 1.0

Insert Insert Screw Wrench

SPMT120408 TL60 M5X12 T20

E080




bohlente /N

XKO1

L1

@D
@ o

4

O

m

X Dimension (mm)

= ““_

=

r XK01.09225.025.02 25 25 140 60

Z

o) XK01.09Z32.032.03 32 32 150 70 z 3 0.8
XK01.09232.035.03 35 32 150 50 z 3 0.8
XKO01.12Z32.032.02 32 32 150 70 z 2 0.8
XK01.12232.040.03 40 32 150 50 z 3 1.3

Insert Insert Screw Clamping Screw Clamp Wrench
o 3 s
SDMT09T3-DM TL60 M3.5X8 T10/T15
L60 M4X10 WD204

SDMT1204-DM TL60 M4X10 T15

E081




XKO01.09A22.050.04
XKO01.09A22.063.06
XKO01.09A27.063.06
XKO01.12A22.063.05
XKO01.12A27.063.05
XKO01.12A27.080.05

XKO01.12B32.100.06

Insert

2]

SDMTO09T3-DM

SDMT1204-DM

90 "£90

“L2ve0 "T0MX.

50

63

63

63

63

80

100

Insert Screw

TL60 M3.5X8

TL60 M4X10

Dimension (mm) Adapter

40 22 40 A
50 22 50 A
50 27 50 A
50 22 50 A
50 27 50 A
60 27 50 A
70 32 50 B

Clamping Screw Clamp

L60 M4X10 WD204

Tooth

Wrench

Weight

()]
0.3

0.5

0.6

0.5

0.6

0.9

T10T/T15T

T15T

E082

=
&)
m
X
=
=
C
=
@




Z
=)
m
X
=
-
r
=
()

bohlente /N

XKO02

XK02.05220.020.02.S
WP05  xK02.05220.020.02.M
XK02.05220.020.02.L
XK02.06225.025.02.S
XK02.06225.025.02.M
XK02.06225.025.02.L
WPO6  xK02.06232.032.03.S

XK02.06232.032.03.M

XK02.06Z232.032.03.L

XK02.06Z232.040.03.S

Insert

O

Dimension (mm) Adapter

20 20 130 50 z 2 0.2
20 20 180 100 z 2 0.3
20 20 250 130 z 2 08
25 25 140 60 z 2 04
25 25 200 120 z 2 0.6
25 25 300 180 z 2 1.0
32 32 150 70 z 3 0.8
32 32 200 120 z 3 1.0
32 32 300 180 z 3 1.6
40 32 150 50 z 3 0.9

WPGT050315ZSR

WPGTO060415ZSR

WPGT080615ZSR

WPGT090725ZSR

E083

Insert Screw Clamping Screw Wrench
TL60 M3.5X8 T10
TL60M4X10 T15
TL60 M4X10 L60 M5X12 WD208 T20



)7 . . hohlente

XKO02

Ll

ol 1* o
S @ 3

Z

&)

ul

Dimension (mm) X

=

-

XK02.06232.040.03.M 40 32 200 50 z 3 15 .

WP06 <

XK02.06Z32.040.03.L 40 32 300 50 4 3 1.8 ®
XK02.08Z32.040.02.S 40 32 150 50 Z 2 0.9
WP08 XK02.08232.040.02.M 40 32 200 50 4 2 1.5
XK02.08Z32.040.02.L 40 32 300 50 4 2 1.9
XK02.09Z32.050.02.S 50 32 150 50 4 2 1.9

WPO09

XK02.09Z32.050.02.M 50 32 200 50 4 2 25

Insert Insert Screw Clamping Screw Wrench
WPGT050315ZSR TL60 M3.5X8 T10
WPGT060415ZSR TL60M4X10 5
WPGT080615ZSR

TL60 M4X10 L60 M5X12 WD208 T20

WPGT090725ZSR

E084




bohlente /N

o g

“d, i'ﬁi

P
w)
Y,
- Dimension (mm) Tooth Weight
— (kg)
o
r WP06  XK02.06A22.050.04 50 40 22 50 A 4 0.4
P
O XK02.08A22.050.03 50 40 22 50 A 3 0.4
XK02.08A22.063.04 63 50 22 50 A 4 0.7
XK02.08A27.063.04 63 50 27 50 A 4 0.7
WPO08
XK02.08A27.080.05 80 60 27 50 A 5 15
XK02.08B32.100.06 100 70 32 63 B 6 2.2
XK02.08B40.125.07 125 80 40 63 B 7 3.5
XKO02.08B40.160.08 160 100 40 63 B 8 6.0
XK02.09A22.063.03 63 50 22 50 A 3 0.7
XK02.09A27.080.04 80 60 27 63 A 4 14
WPO9 XK02.09B32.100.05 100 70 32 63 B 5 2.1
XK02.09B40.125.06 125 80 40 63 B 6 3.7
XK02.09B40.160.07 160 100 40 63 B 7 6.3
Insert Insert Screw Clamping Screw Clamp Wrench
(o} 3 ’
WPGT060415ZSR TL60 M4X10 T15T
WPGT080615ZSR
TL60 M5X12 TL60 M5X12 WD208 T20T
WPGT090725ZSR
E085




XKO03

XKO03.09Z25.025.02.S

XK03.09Z25.025.02.M

XK03.09Z25.025.02.L

XKO03.09232.032.03.S

XK03.09Z32.032.03.M

XKO03.09Z32.032.03.L

XK03.09Z32.040.04.S

XKO03.09Z32.040.04.M

XKO03.09Z32.040.04.L

Insert

(o)

WNMX09T316ZNN-MM

25

25

25

32

32

32

40

40

40

Dimension (mm)

25

25

25

32

32

32

32

32

32

140

200

300

150

200

300

150

200

300

Insert Screw

“

TL60 M3X7

60

120

180

70

120

180

50

50

50

Wrench

T10

E086

ONITTIIN X3ANI




bohlente /N

Z

w)

m

>< Type

=

r

r XKO03.09A16.040.04 40 35 16 40 A 4 0.2

Z

@ XK03.09A22.050.05 50 40 22 40 A 5 0.3
XK03.09A22.063.06 63 50 22 40 A 6 05
XK03.09A27.080.07 80 60 27 50 A 7 1.1
XK03.09B32.100.08 100 70 32 50 B 8 1.7

Insert Screw Wrench

@ o

WNMX09T316ZNN-MM TL60 M3X7 T10T

E087




bohlente

90’

PHO1

Z

)

m

Dimension (mm) . X

Type Adapter| Tooth Weight =

I = T & =

-

PHO01.12W40.040.02.E55 40 40 175 95 55 W 02 1.2 —
<

PHO1.12W40.050.04.E55 50 40 175 95 55 w 04 15 @

Insert Side Cutting Insert Insert Screw Wrench

APKT150412 SPMT120408 TL60 M5X12 T20

E088




bohlente

PHO1

=z

=)

m

X Dimension (mm) ;

= Category Type Adapter Tooth Weight

— (kg)

-

r PH01.12JT50.050.04.084 50 246.75 145 84 JT50 4 4.8

Z

@ PH01.12JT750.063.04.074 63 236.75 135 74 JT50 4 5.5
PHO01.12JT750.063.04.104 63 266.75 165 104 JT50 4 6.0

JT50
PHO01.12JT750.063.04.134 63 296.75 195 134 JT50 4 6.3
PH01.12JT750.080.04.104 80 266.75 165 104 JT50 4 7.0
PHO01.12JT750.080.04.144 80 306.75 205 144 JT50 4 7.2
PHO01.12BT50.050.04.084 50 246.75 145 84 BT50 4 4.8
PHO01.12BT50.063.04.074 63 236.75 135 74 BT50 4 55
PHO01.12BT50.063.04.104 63 266.75 165 104 BT50 4 6.0
BT50 PHO01.12BT50.063.04.134 63 296.75 195 134 BT50 4 6.3

PHO01.12BT50.080.04.104 80 266.75 165 104 BT50 4 7.0
PHO01.12BT50.080.04.144 80 306.75 205 144 BT50 4 7.2

End Side Insert Side Cutting Insert Insert Screw Wrench

APKT150412 SPMT120408 TL60 M5X12 T20T

E089




)7 . . hohlente

BAP right angel shouder end mill

Pressure
plate

Applicable inserts

Stocked Letms h
BAP300R-10-130-C10-1T 10 10 130 30 - 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-11-130-C10-1T 11 10 130 30 - 9 APMT1135PDER 1 T08 M2.5X5
BAP300R-12-130-C12-1T 12 12 130 30 - 9 APMT1135PDER 1 T08 M2.5X5 E
BAP300R-13-130-C12-1T 13 12 130 30 - 9 APMT1135PDER 1 T08 M2.5X5 O
BAP300R-16-130-C16-2T 16 16 130 40 - 9 APMT1135PDER 2 TO8 M2.5X5 E
BAP300R-16-160-C16-2T 16 16 160 40 - 9 APMT1135PDER 2 T0O8 M2.5X5 =
BAP300R-16-200-C16-2T 16 16 200 40 100 9 APMT1135PDER 2 T08 M2.5X5 I=
BAP300R-17-160-C16-2T 17 16 160 40 - 9 APMT1135PDER 2 T08 M2.5X5 r
BAP300R-17-200-C16-2T 17 16 200 40 - 9 APMT1135PDER 2 TO8 M2.5X5 E
BAP300R-20-130-C20-2T 20 20 130 40 - 9 APMT1135PDER 2 TO8 M2.5X5 ®
BAP300R-20-160-C20-2T 20 20 160 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-200-C20-2T 20 20 200 50 100 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-21-160-C20-2T 21 20 160 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-21-200-C20-2T 21 20 200 50 - 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-25-160-C25-2T 25 25 160 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-25-200-C25-2T 25 25 200 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-160-C25-2T 26 25 160 50 - 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-200-C25-2T 26 25 200 50 - 9 APMT1135PDER 2 TO8 M2.5X5

BAP400R
BAP400R-25-160-C25-2T 25 25 160 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-25-200-C25-2T 25 25 200 75 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-25-250-C25-2T 25 25 250 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-160-C25-2T 26 25 160 40 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-200-C25-2T 26 25 200 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-26-250-C25-2T 26 25 250 50 - 14 APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 25 160 50 - 14 APMT1604PDER 2 T15 M4x8
BAP400R-32-200-C25-2T 32 25 200 50 - 14 APMT1604PDER 2 T15 M4x8
BAP400R-32-160-C32-3T 32 32 160 50 - 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 32 200 80 - 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-250-C32-3T 32 32 250 60 115 14 APMT1604PDER 3 T15 M4x8
BAP400R-32-300-C32-3T 32 32 300 60 165 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 32 160 50 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-200-C32-3T 35 32 200 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-250-C32-3T 35 32 250 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-300-C32-3T 35 32 300 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-350-C32-3T 35 32 350 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-35-400-C32-3T 35 32 400 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-200-C32-3T 40 32 200 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-250-C32-3T 40 32 250 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-300-C32-3T 40 32 300 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 32 350 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-400-C32-3T 40 32 400 60 - 14 APMT1604PDER 3 T15 M4X8
E090




Z
=)
m
X
=
-
r
=
()

Stocked Letms

EMR-4R-13-130-C12-1T
EMR-4R-16-130-C16-2T
EMR-4R-16-160-C16-2T
EMR-4R-16-200-C16-2T
EMR-4R-17-160-C16-2T
EMR-4R-17-200-C16-2T
EMR-4R-20-160-C20-2T
EMR-4R-20-200-C20-2T
EMR-4R-21-160-C20-2T
EMR-4R-21-200-C20-2T
EMR-5R-20-160-C20-2T
EMR-5R-20-200-C20-2T
EMR-5R-21-160-C20-2T
EMR-5R-21-200-C20-2T
EMR-5R-25-160-C20-2T
EMR-5R-25-160-C25-2T
EMR-5R-25-200-C25-2T
EMR-5R-25-250-C25-2T
EMR-5R-30-160-C25-2T
EMR-5R-30-200-C25-2T
EMR-5R-30-250-C25-2T
EMR-5R-30-300-C25-2T
EMR-5R-35-160-C32-2T
EMR-5R-35-200-C32-2T
EMR-5R-35-160-C32-3T
EMR-5R-35-200-C32-3T
EMR-5R-35-250-C32-3T
EMR-5R-35-300-C32-3T
EMR-5R-35-350-C32-3T
EMR-5R-35-400-C32-3T
EMR-5R-40-200-C32-4T
EMR-5R-40-250-C32-4T
EMR-5R-40-300-C32-4T
EMR-5R-40-350-C32-4T

E091

EMR-4R-12-130-C12-1T |

EMR round dowel end mill

(6 1NN¢) INNG, IRES, IRNS BN S NN ) I, INNG, BRNG) BRNS, BN NN BN INNG, BREG, BRNG, BN, NN ) NN ) BN, BRNG, BRNS, BENS) B N S S S A A e =

Applicable inserts

RPMW0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMW0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMWO0802 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO
RPMW1003 MO

>

bohlente /N

Teeth

©
e
h 4
I S FE— S
h A
€ L1

Wrench Screw PrslsastLére
T10 M3X7 -
T10 M3X7 -
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T10 M3X7  WD-202
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204

A DA DA D OOWWWWWMPDMNPDNODNNMNDNNDNPDPDNODNODNODNDPDNODNODNONNDNDNDNDNDNNDDND =S =



)7 . . hohlente

EMRW round dowel end mill

Pressure
Applicable inserts Teeth Wrench Screw plate

Stocked Letm h
EMRW-6R-32-160-C25-2T 32 25 160 50 - 6 RPMW/T1204 MO 2 T15 M4X10 WD-204
EMRW-6R-32-200-C25-2T 32 25 200 50 - 6 RPMW/T1204 MO 2 T15 M4X10 WD-204
EMRW-6R-32-250-C25-2T 32 25 250 60 - 6 RPMW/T1204 MO 2 T15 M4X10 WD-204
EMRW-6R-35-160-C32-3T 35 32 160 50 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-35-200-C32-3T 35 32 200 50 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-35-250-C32-3T 35 32 250 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-35-300-C32-3T 35 32 300 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-35-350-C32-3T 35 32 350 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-40-200-C32-3T 40 32 200 50 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-40-250-C32-3T 40 32 250 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-40-300-C32-3T 40 32 300 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
EMRW-6R-40-350-C32-3T 40 32 350 60 - 6 RPMW/T1204 MO 3 T15 M4X10 WD-204
TRS round dowel end mill
©
o
ofv_ T R S
S,
*!*h o, *

Pressure

Applicable inserts Teeth Wrench plate

Stocked Letm T~ h

TRS-4R-12-130-C12-1T 12 12 130 40 - 4 RDMT0802MO 1 T08 M3X7

TRS-4R-16-160-C16-2T 16 16 160 40 - 4 RDMT0802MO 2 T08 M3X7  WD-202
TRS-4R-20-160-C20-2T 20 20 160 50 - 4 RDMT0802MO 2 T08 M3X7  WD-202
TRS-4R-20-200-C20-2T 20 20 200 50 - 4 RDMT0802MO 2 T08 M3X7  WD-202

TRS-5R

TRS-5R-25-160-C25-2T 25 25 160 50 - 5 RDMT10T3MO 2 T15 M4X10 WD-204
TRS-5R-25-200-C25-2T 25 25 200 75 - 5 RDMT10T3MO 2 T15 M4X10 WD-204
TRS-5R-30-160-C25-2T 30 25 160 40 - 5 RDMT10T3MO 2 T15 M4X10 WD-204
TRS-5R-30-200-C25-2T 30 25 200 50 - 5 RDMT10T3MO 2 T15 M4X10 WD-204
TRS-5R-30-250-C25-2T 30 25 300 60 - 5 RDMT10T3MO 2 T15 M4X10 WD-204
TRS-5R-35-160-C32-3T 35 32 160 50 - 5 RDMT10T3MO 3 T15 M4X10 WD-204
TRS-5R-35-200-C32-3T 35 32 200 50 - 5 RDMT10T3MO 3 T15 M4X10 WD-204
TRS-5R-35-250-C32-3T 35 32 250 60 - 5 RDMT10T3MO 3 T15 M4X10 WD-204

E092

=
&)
m
X
=
=
C
=
@




bohlente /N

BAP right angle shoulder face mill

_u4 Y

(&)
a
-

Pressure

Applicable inserts Teeth Wrench Screw plate

Stocked Letms

BAP400R-50-22-4T 50 22 50 104 6.3 14 APMT1604PDER
BAP400R-63-22-4T 63 22 50 104 6.3 14 APMT1604PDER
BAP400R-63-22-5T 63 22 50 104 6.3 14 APMT1604PDER
BAP400R-80-27-6T 80 27 50 124 7 14 APMT1604PDER
BAP400R-100-32-6T 100 32 50 144 14 APMT1604PDER
BAP400R-125-40-6T 125 40 63 164 9 14 APMT1604PDER

T15 M4X10 -
T15 M4X10 -
T15 M4X10 -
T15 M4X10 -
T15 M4X10 -
T15 M4X10 -

[oe]
[o)JNe>IaNe> BRE@) BRI SN N

Z
=)
m
X
=
-
r
=
()

EMR round dowel face mill

Pressure
plate

Applicable inserts Teeth Wrench Ne 2

Stocked Letms

EMR-5R-50-22-4T 7 50 22 50 104 6.3

5 RPMW1003MO 4 T15 M4X10 WD-204
EMR-5R-63-22-4T 63 22 50 104 63 5 RPMW1003M0 4 T15 M4X10 WD-204
EMR-5R-63-22-5T 63 22 50 104 63 5 RPMW1003MO 5 T15 M4X10 WD-204
EMR-5R-80-27-6T 80 27 50 124 7 5 RPMW1003MO 6 T15 M4X10 WD-204
EMR-5R-100-32-6T 100 32 50 144 7 5 RPMW1003M0 6 T15 M4X10 WD-204

E093




bohlente

EMRW round dowel face mill «—>

Applicable inserts Teeth Wrench Screw Prslsasttére

Stocked Letms
EMRW-6R-50-22-4T 50 22 50 10.4 6.3 RPMW/T1204M0
EMRW-6R-63-22-4T 63 22 50 10.4 6.3 RPMW/T1204M0

6 T15 M4X10 WD-204
6
EMRW-6R-63-22-5T 63 22 50 104 63 6 RPMW/T1204MO
6
6

T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204
T15 M4X10 WD-204

EMRW-6R-80-27-6T 80 27 50 124 7 RPMW/T1204MO0
EMRW-6R-100-32-6T 100 32 50 144 7 RPMW/T1204MO

[o) N> B¢ I RS

TRS round dowel end mill

=
&)
m
X
=
=
C
=
@

Applicable inserts Teeth Wrench Screw Prelssure
plate

Stocked Letms
TRS-5R-50-22-4T 50 22 50 104 6.3

5 RDMT10T3MO 4 T15 M4X10 WD-204
TRS-5R-63-22-4T 63 22 50 104 63 5 RDMT10T3MO 4 T15 M4X10 WD-204
TRS-6R-50-22-4T 50 22 50 104 6.3 6 RDMT1204MO0 4 T15 M4X10 WD-204
TRS-6R-63-22-4T 63 22 50 104 6.3 6 RDMT1204MO0 4 T15 M4X10 WD-204
TRS-6R-63-22-5T 63 22 50 104 63 6 RDMT1204MO0 5 T15 M4X10 WD-204
TRS-6R-80-27-6T 80 27 50 124 7 6 RDMT1204MO 6 T15 M4X10 WD-204

KM-45° face mill

- De "‘A_/

Applicable inserts Teeth Wrench Pressure

plate

Stocked Letms wo T

KM12-50-22-4T 50 22 50 104 6.3 64 SEKT1204[1]

4 T20 M5X11
KM12-63-22-4T 63 22 50 104 6.3 77 SEKT1204[1[] 4 T20 M5X11
KM12-80-27-5T 80 27 50 124 7 94 SEKT1204[1] 5 T20 M5X11
KM12-100-32-5T 100 32 50 144 8 114 SEKT1204[1(] 5 T20 M5X11

E094




bohlente

EXN series milling holder

s ] — s

_
Z Flute | Applicableinserts |Wrench Screw
: s =
g EXNO3R-16-100-C16-2T V 16 9.6 16 35 100 1 2
|§ EXNO3R-16-160-C16-2T 16 9.6 16 40 160 1 2
E EXNO3R-17-100-C16-2T 17 10.5 16 35 100 1 2
% EXNO3R-17-160-C16-2T 17 10.5 16 40 160 1 2

EXNO3R-18-100-C16-2T 18 11.5 16 35 100 1 2

EXNO3R-18-160-C16-2T 18 11.5 16 40 160 1 2

EXNO3R-20-130-C20-3T 20 13.5 20 40 130 1 3

EXNO3R-20-160-C20-3T 20 13.5 20 45 160 1 3

EXNO3R-21-130-C20-3T 21 14.5 20 40 130 1 3

EXNO3R-21-160-C20-3T 21 14.5 20 50 160 1 3

EXNO3R-22-130-C20-3T 22 15.5 20 40 130 1 3

EXNO3R-22-200-C20-3T 22 15.5 20 50 200 1 3 LNMUO303ZER TO8 M2.5X6.5

EXNO3R-25-160-C25-4T 25 18.5 25 50 160 1 3

EXNO3R-25-200-C25-4T 25 18.5 25 60 200 1 4

EXNO3R-26-160-C25-4T 26 19.5 25 50 160 1 4

EXNO3R-26-200-C25-4T 26 19.5 25 60 200 1 4

EXNO3R-28-160-C25-4T 28 21.5 25 50 160 1 4

EXNO3R-28-200-C25-4T 28 21.5 25 60 200 1 4

EXNO3R-30-160-C32-5T 30 23.5 32 50 160 1 5

EXNO3R-30-200-C32-5T 30 23.5 32 60 200 1 5

EXNO3R-32-160-C32-5T 32 25.5 32 50 160 1 5

EXNO3R-32-200-C32-5T 32 25.5 32 60 200 1 5

EXNO3R-35-160-C32-5T 35 28.5 32 45 160 1 5

EXNO3R-35-200-C32-5T 35 28.5 32 45 200 1 5

E095




)7 . . hohlente

EXN series mill

.

Y

Z
O
Applicable inserts | Wrench Screw =
EXNO3R-040-A16-6T 40 336 16 40 84 1 55 6 E
EXNO3R-050-A22-8T 50 436 22 50 104 1 6.3 (@)
LNMUO303ZER  T08  M2.5X6.5
EXNO3R-063-A22-9T 63 566 22 50 104 1 63 9
EXNO3R-080-A27-10T 80 736 27 50 124 1 63 10

Insert Screw Wrench

ég\ 1.} e

LNMUO303ZER M2.5X6.5 TO8

E096




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 93
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100

